Math 3 6.7 Tangent Lines of Circles Unit 6

SWBAT solve for unknown variables using theorems about tangent lines of circles.

A line in the plane of the circle that intersects the A
circle in exactly one point,
Ex: Segment AB is a tangent to Circle O.

@mmm The point where a circle and a tangent intersect. 8

S e Ex: Point P is a point of tangency on Circle O.
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L., Example: If RS is tangent, then PRiRS.
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Example 3: Is segment MN tangent to Circle O at P2 Explain.
: N

z
122 + 8% = (3+s)
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If two tangent segments to a circle share a common endpoint outside the circle,
then the two segments are congruent. m—

Example 4: Solve for x.
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Ex: The circle is circumscribed about the
triangle.

Ex: The triangle is inscribed in the circle.

} When a polygon is circumscribed about a circle, all of the sides of the polygon
k: are tangent to the circle.
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Example 5: Triangle ABC is circumscribed about QO. Find the perimeter of triangle ABC.

(12+0) + (ure) + (123=)
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